New Maths GCSE: R11 - Density, Mass, Volume - Formulz

Triangles

M \ What is the correct formula
i to calculate Density?

Mass n Volume
Volume Mass

Mass + Volume [B] Mass x Volume

M\‘\ What is the correct formula

h to calculate Mass?
y N
4 D V X
A

Density a Volume
Volume Density

Density + Volume [fJ Density x Volume

M What is the correct formula
L to calculate Volume?

Density Mass
A M
. Mass n Density

Mass + Density ﬂ Mass x Density
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" Correct Answer: ABCD
& A stone has a mass of 310g
M h and a volume of 520cm?3. Explanation:
, D Whatisits densityin | e
y
4 D | \4 \\, kg/cm??
310 + 520 H 310+ 520

310 X520 I 520 =310 | oo ssssesssssssssseennseens

Correct Answer: ABCD

b A piece of metal has a mass .
A of 4kg and a volume of Explanation:

N 800cm?,
// 2 ’ ¥ \\\:. Whatisits density in /cm™ | ettt
4000 = 800 [ 800 « 4 | s

B 4 x800 Bl 4800 | s

Correct Answer: ABCD

,_,/M\ A brick has a mass of 7kg Explanation:
/ A and a volume of 325cm?,

‘/’! \\\ ..........................................................................
Y. D | V A Whatis its density in kg/m*?
L : Sl aassamsssassssassssssssssassanassaEassaEasTEEasEERARRERRRRRRR R R R R R

4 7+ 325 ﬂ——
B 375 B —————————————

7
B 325 x 1000000 n ===+ 1000000

A
N

Correct Answer: ABCD
y N A toy car has a volume of

/ M K\_\ 32m? and a density of Explanation:
/ N E L SRR RS R
LDV
y | \;. Whatisits massin K82 | eieiiiierressssssensnnssssssssnsnnsnsssssstsrmsrersesessnsansssssnnnnnnns
32+ Z1 B 32+21

B 21x32 B 21 232 | st esbeens
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Correct Answer: ABCD

//\‘ A piece of space rock has
VN C a S
/ M A volume of 32cm?® and a Explanation:
4 ) densityof 400g/cm® ] s
// D \\
L Whatisits massiNK8? | ceeiiiiiieierrie s i e e e ra s ranranar i nraans

32x400x100 [ 32x 400+ 1000| s

32 X 400 BI 32X 400X 1000 | oo e e
A Correct Answer: ABCD
\A
/M\--\ A car has a mass of 875kg Explanation:
y \ and a density of 39kg/m?3
/ U
4 D V \\\ What is its volume in m3?

875 + 39 [ 875239 | s

875X 39 I 395875 | e
A Correct Answer: ABCD
\.
/M\- A rock has a mass of 2.1kg Explanation:
A, and a density of 9kg/m?
/ U
y D V \\\ What is its volume in cm?3?

21+9%1000000 [l 21 +9+100 | s

21+9x100 Bl 2.1 59 | e

This quiz was created on www.diagnosticquestions.com. 3



	New Maths GCSE: R11 - Density, Mass, Volume - Formula Triangles

